2010

10A A#lEBEE AVSXR

JGRABIER X &)
20104E10 /158 IR 1124

20104£10H 28 H (K) BifE AALYILAVRN)—95T
A5-h OUT ~ IN K—LTI
11 7:30]O I8 &tE arsTe+u|EE E— Kery37 |l T Kery57 |BAFHF EE KGRYSD 12:30
2| 7:3710 IIFELU "B vry=xR—y|iEL K BF #radLy |hE E3XX #roviTud| KB B KGRYSD 12:37
3| 74410 |HW 8 #uTy |BEAR K 7-iArauz|fa BT SvwoTduolBEk HE KGRYST 12:44
4l 7510 |&H4& 11— keryS57 |EEIE  KGrRY57 B E  kery57 |#1H HE +adLy 12:51
5[ 7:58]O |BE84R /18 miRxur |REK IEE HaILo |IRE [EER KerY37 |Ei15 BE  KGRYSD 12:58
6| 805|O |m#h 2Ff1 k= |ENl#BE xugro |BHF ERE orsTecu|EH BB <xewoer| 13:05
7| &12lO |4t B keryST  |MNEk AR KGrRYST  |HiE EAN kGrYSY |EMA I mESLT 13:12
8| 819|O |HIL EE mwn=Inz |LUG fEz FLacs EN BE Mo or7kE HE #maeILz | 13:19
9 8:26|O |[FAKR R Kero57 |WWEFD #= KGRY57 |FiE Bz KGR57  |WIER JTE  KGRY5Y 13:26
10| 833|O |iEA Bk mExK—Y |EH BIE ker957 |BARER kery57 |HIBE £ KGRYST 13:33
11| 84010 |BEXK E aanvrr—1z5EI K 7U—n—F|EE B ST NT|ING E=ER JuFaras—y| 1340
12| 8:47|0 |t B ~rovrevs— 2L —RK arsTRbL|EE EFE KerY37 |BA EB AwIuz 13:47
13| 854|O |ZEE HB »r—uimw | B8 oveze—| =HR BRIE KGRY57 |ILUE = KGRY5T 13:54
14| 9:01|O [F2 BiE ==mw-L7|KAR E KeryS7 | & xzwIus |[# B KGRY5J 14:01
OlkTF/ryb)—5—
A5-h IN ~ OUT K—LTIH
11 7:30)10 | B2 K E «Gry57 |fhH HA @‘AREILY |FIE Bt kery57  |iE)ll A% KGrY57 12:30
2| 73710 | KIE BE »f=5i—F| KR it saroi—o| K BE kKery57 |jfEH BB— KGrRY5D 12:37
3| 7:44|O |KH =  arsTeeu|EE M 7-U—n—rNI| B— xS0y |EE BEBA KerYST 12:44
4] 751|0 |IBER BE Kery37 &Rl sasusaus|PAE F— KeRUZT HAER FE  3awor-zzx| 1251
5| 7:58|O | EH ZF&: KGrRy>7 || BIE #u=u> | FEH 18 KGRY37 |HH & Fradnz | 12:58
6| 8050 |EFHE EE wnFno  |BIR RE Hr—Umw |8k BIZ kery5T  |EIWWIER KeRY3I | 1305
7| 812]O |LH i arsFeeullE M= afgaz | RER arsTeeuBREE kE v | 13:12
8| 8:19|O |31 FF zrzFapu|idt E— Kery57 |IMR ER KGro57 | A% EE @mammILz | 13:19
9| 8:26]0O [HiitE FE BAILy |HhiE E— vr—ser|E BEA BRIV |[FL B —rrzars] 13:26
10| 833|O |/M#k FF mrosmsswews[IN BB H555 B S5h ovx-reors|NE BE KGRYST 13:33
11| 84010 |¥HB | R =z=gEsdir|FH BA sacsvsaur|EE HEk wumrs |[SHE =EFS5—H 13:40
12| 84710 /M EARK xp=Euz |hE #ith esew-—mzos|[EIR FH KerY37  |[HER BFE KGRYFT 13:47
13| 8:54|0 |EE[ E#t Kkery57 |FE K— 1Eazz |dAE xpgLy [INEESR sr—umw | 13:54
141 90110 |BH BZ mgsvoR |BE BYR =ws—s3us|iE F1ZE maIL7 |/IMNE BT KGRYSD 14:01

OlFTFHryh)—5—




